Preselection cuts:
. ET > 50 GeV
e 2 or 3 jets

— Er(j1) > 35 GeV; Ex(ja) > 25 GeV; Er(js) > 15 GeV
— |n(4:)] < 2, one of the leading jets j1, j2 central (|| < 0.9)
— AR(j1,J2) > 1
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e lepton veto: reject events with isolated leptons based on loose
identification cuts

e b-tagging: Tight (SecVTX) or Loose (JetProb) tagging algorithms;
at least one leading jet tagged Tight; three independent sub-samples
according to the b-tagging of the other jet

— 1T: Excl. 1 Tight tag
— TL: 1 Tight and 1 Loose tag
— TT: 2 Tight tags



